

$$A = \begin{pmatrix} 1 & -1 \\ 2 & 4 \end{pmatrix}$$

$$A' = \begin{pmatrix} 2 & 0 \\ 0 & 3 \end{pmatrix}$$

$$\begin{array}{l} u_1 \\ \lambda_1 = 2 \end{array} \quad \begin{array}{l} u_2 \\ \lambda_2 = 3 \end{array}$$

$$= \begin{pmatrix} -1 & -1 \\ 1 & 2 \end{pmatrix}^{-1} \cdot \begin{pmatrix} 1 & -1 \\ 2 & 4 \end{pmatrix} \cdot \begin{pmatrix} -1 & -1 \\ 1 & 2 \end{pmatrix}$$

$$= \underbrace{\begin{pmatrix} -2 & -1 \\ 1 & 1 \end{pmatrix}}_{P^{-1}} \begin{pmatrix} 1 & -1 \\ 2 & 4 \end{pmatrix} \underbrace{\begin{pmatrix} -1 & -1 \\ 1 & 2 \end{pmatrix}}_P$$

$$A = \underbrace{P}_{P^{-1}} \underbrace{\begin{pmatrix} 2 & 0 \\ 0 & 3 \end{pmatrix}}_{A'} \underbrace{P^{-1}}_{P^{-1}}$$

$$n = 1$$

$n \Rightarrow n+1$

$$A^{n+1} = A^n \cdot A = \underline{P} \cdot (A')^n \cdot \underline{P}^{-1} \cdot A$$

$$= \underline{P} (A')^n \cdot \underbrace{\underline{P}^{-1} \cdot \underline{P}}_{I_2} \cdot A' \cdot \underline{P}^{-1}$$

$$= \underline{P} (A')^n \cdot A' \cdot \underline{P}^{-1}$$

$$= \underline{P} \cdot (A')^{n+1} \cdot \underline{P}^{-1}$$

(QFD)

$$A^n = \begin{pmatrix} -1 & -1 \\ 1 & 2 \end{pmatrix} \begin{pmatrix} 2^n & 0 \\ 0 & 3^n \end{pmatrix} \begin{pmatrix} -2 & -1 \\ 1 & 1 \end{pmatrix}$$
$$= \begin{pmatrix} 2^{n+1} - 3^n & 2^n - 3^n \\ -2^{n+2} + 2 \cdot 3^n & -2^n + 2 \cdot 3^n \end{pmatrix}$$